# A CONTINUED FRACTION FROM UNORGANIZED PORTIONS OF RAMANUJAN'S NOTEBOOKS AND PARTITIONS 

Bhaskar Srivastava*


#### Abstract

In this paper, we consider the finite form of the continued fraction found in the unorganized material, Entry 9 [2], and give the sum of $n$ terms. We give the $n^{t h}$ convergent series in two ways-one by simple expansion and the other by using partition theory.


## 1. Introduction

In the second notebook of Ramanujan, there are organized material in the 21 chapters. Chapter 12 [3] is devoted entirely to continued fractions. Some continued fractions are also found in Chapter 16 [1]. After these 21 chapters there are 100 pages containing material which is unorganized and there are only 33 pages in the third notebook, containing material, which is also unorganized. Thus there are 133 pages, the contents of which are unorganized. Andrews, Berndt, Jacobson and Lamphere [2] have proved all the continued fractions found in these 133 pages.

In this paper, we consider the finite form of the continued fraction found in the unorganized material, Entry 9 [2],

$$
\begin{equation*}
1-\frac{x q}{(1+q)+\frac{x q^{3}}{\left(1+q^{2}\right)-\frac{x q^{2}}{\left(1+q^{3}\right)+.}}}=\frac{\sum_{n=0}^{\infty} \frac{\frac{q^{2}+n}{2}(-x)^{n}}{\left(q^{2} ; q^{2}\right)_{n}}}{\sum_{n=0}^{\infty} \frac{{\frac{n}{}{ }^{2}+3 n}_{2}^{2}(-x)^{n}}{\left(q^{2} ; q^{2}\right)_{n}}}=\frac{P(x)}{Q(x)}, \tag{1}
\end{equation*}
$$

[^0]and give the sum of $n$ terms. We give the $n^{\text {th }}$ convergent series in two ways-one by simple expansion and the other by using partition theory. We choose this continued fraction as Andrews et. al., say, the most interesting results are Entry 7 and Entry 9 involving modest generalizations of the Rogers-Ramanujan continued fraction. Andrews et. al. did not consider its finite form. They proved the result of Ramanujan by first proving two three term relations. We give a simple proof.

We shall use the following usual basic hypergeometric notations: For $|q|<1$,

$$
\begin{aligned}
& (a)_{0}=1, \\
& (a)_{n}=(1-a)(1-a q) \cdots\left(1-a q^{n-1}\right) \text { for } 1 \leq n<\infty, \\
& (a)_{\infty}=\prod_{r=0}^{\infty}\left(1-a q^{r}\right), \\
& {\left[\begin{array}{l}
n \\
r
\end{array}\right]=\frac{(q)_{n}}{(q)_{r}(q)_{n-r}},} \\
& \sum_{k} p(k, n, r) x^{k}=\frac{(q)_{r+n}}{(q)_{r}(q)_{n}} .
\end{aligned}
$$

## 2. Expression for $P_{n}$ and $Q_{n}$

Theorem 2.1. For $n=2 m$, the $n^{\text {th }}$ term $=\frac{x q^{3 m}}{1+q^{2 m}}$ and for $n=$ $2 m-1$, the $n^{\text {th }}$ term $=\frac{-x q^{m}}{1+q^{2 m-1}}$,

$$
1-\frac{x q}{(1+q)+\frac{x q^{3}}{\left(1+q^{2}\right)-\frac{x q^{2}}{\left(1+q^{3}\right)+\frac{x q^{6}}{\left(1+q^{4}\right) \cdots n \text { terms }}}}}=\frac{P_{n}(x)}{Q_{n}(x)},
$$

where

$$
P_{n}(x)=\sum_{r=0}^{n+1}(-1)^{r} q^{\frac{r^{2}-r}{2}} x^{r} \sum_{s=0}^{n+1-r}(-q)^{n+1-s}\left[\begin{array}{c}
r+s  \tag{2}\\
r
\end{array}\right]\left[\begin{array}{l}
n-s \\
r-1
\end{array}\right],
$$

$$
Q_{n}(x)=\sum_{r=0}^{n}(-1)^{r} q^{\frac{r^{2}+r}{2}} x^{r} \sum_{s=0}^{n-r}(-q)^{n-s}\left[{ }_{r}^{r+s}\right]\left[\begin{array}{l}
n-1  \tag{3}\\
n-s-1
\end{array}\right] .
$$

Proof. Let

$$
\begin{align*}
P(x, z) & =1+\sum_{n=0}^{\infty} P_{n}(x) z^{n+1} \\
& =\sum_{r=0}^{\infty} \frac{(-1)^{r} q^{\frac{r^{2}+r}{2}}(x z)^{r}}{(z)_{r+1}(-z q)_{r}}, \quad|x z|<1  \tag{4}\\
Q(x, z) & =\sum_{n=0}^{\infty} Q_{n}(x) z^{n}=\sum_{r=0}^{\infty} \frac{(-1)^{r} x^{\frac{r^{2}+3 r}{2}}(x z)^{r}}{(z)_{r+1}(-z q)_{r}}
\end{align*}
$$

Applying Abel's Lemma, we get

$$
\begin{aligned}
P(x) & =\lim _{n \rightarrow \infty} P_{n}=\lim _{z \rightarrow 1^{-}}(1-z) P(x, z) \\
& =\sum_{r=0}^{\infty} \frac{(-1)^{r} q^{\frac{r^{2}+r}{2}}(x)^{r}}{(q)_{r}(-q)_{r}}, \quad|x|<1 .
\end{aligned}
$$

Similarly,

$$
Q(x)=\sum_{r=0}^{\infty} \frac{(-1)^{r} q^{\frac{r^{2}+3 r}{2}}(x)^{r}}{(q)_{r}(-q)_{r}}, \quad|x|<1
$$

So we get (1).
Now by (4),

$$
\begin{aligned}
P(x, z) & =\sum_{n=0}^{\infty} P_{n}(x) z^{n}=\sum_{r=0}^{\infty} \frac{(-1)^{r} q^{\frac{r^{2}+r}{2}}(x z)^{r}}{(z)_{r+1}(-z q)_{r}} \\
& =\sum_{r=0}^{\infty}(-1)^{r} q^{\frac{r^{2}+r}{2}} x^{r} z^{r} \sum_{s=0}^{\infty} z^{s}\left[{ }_{r}^{r+s}\right] \sum_{t=0}^{\infty}(-1)^{t} q^{t} z^{t}\left[\begin{array}{l}
r-1+t \\
r-1
\end{array}\right] .
\end{aligned}
$$

Therefore,

$$
\begin{aligned}
P_{n}(x) & =\sum_{r+s+t=n+1}(-1)^{r} q^{\frac{r^{2}+r}{2}} x^{r}(-1)^{t} q^{t}\left[\begin{array}{l}
r+s \\
r
\end{array}\right]\left[\begin{array}{l}
r-1+t \\
r-1
\end{array}\right] \\
& =\sum_{r=0}^{n+1}(-1)^{r} q^{\frac{r^{2}+r}{2}} x^{r} \sum_{s=0}^{n+1-r}(-q)^{n+1-r-s}\left[\begin{array}{l}
r+s \\
r
\end{array}\right]\left[\begin{array}{l}
n-s \\
r-1
\end{array}\right]
\end{aligned}
$$

which proves (2).
Similarly,

$$
\begin{aligned}
Q(x, z) & =\sum_{r=0}^{\infty} \frac{(-1)^{r} q^{\frac{r^{2}+3 r}{2}}(x z)^{r}}{(z)_{r+1}(-z q)_{r}} \\
& =\sum_{r=0}^{\infty}(-1)^{r} q^{\frac{r^{2}+3 r}{2}} x^{r} z^{r} \sum_{s=0}^{\infty} z^{s}\left[{ }_{r}^{r+s}\right] \sum_{t=0}^{\infty}(-1)^{t} q^{t} z^{t}\left[\begin{array}{l}
r-1+t \\
r-1
\end{array}\right]
\end{aligned}
$$

Therefore,

$$
\begin{aligned}
Q_{n}(x) & =\sum_{r+s+t=n}(-1)^{r} q^{\frac{r^{2}+3 r}{2}} x^{r}(-1)^{t} q^{t}\left[\begin{array}{l}
r+s \\
r
\end{array}\right]\left[\begin{array}{l}
r-1+t \\
r-1
\end{array}\right] \\
& =\sum_{r=0}^{n}(-1)^{r} q^{\frac{r^{2}+3 r}{2}} x^{r} \sum_{s=0}^{n-r}(-q)^{n-r-s}\left[{ }_{r}^{r+s}\right]\left[\begin{array}{l}
n-1
\end{array}\right],
\end{aligned}
$$

which proves (3).
Now we shall now use partition theory to give $P_{n}$ and $Q_{n}$.
We have

$$
P(z)=1+\sum_{n=0}^{\infty} P_{n}(x) z^{n+1}=\sum_{r=0}^{\infty} \frac{(-1)^{r} q^{\frac{r^{2}+r}{2}}(x z)^{r}}{(z)_{r+1}(-z q)_{r}}
$$

Hence

$$
\begin{gathered}
P_{n}(x)=\sum_{r=0}^{n+1}(-1)^{r} q^{\frac{r^{2}+r}{2}} x^{r} \sum_{\alpha_{0}+\alpha_{1}+\ldots+\alpha_{r}=s} 1^{\alpha_{0}} q^{\alpha_{1}}\left(q^{2}\right)^{\alpha_{2}} \ldots\left(q^{r}\right)^{\alpha_{r}} \\
\\
\times \sum_{\beta_{1}+\beta_{2}+\cdots+\beta_{r}=n+1-s-r} q^{\beta_{1}}\left(q^{2}\right)^{\beta_{2}} \cdots\left(q^{r}\right)^{\beta_{r}}
\end{gathered}
$$

$$
\begin{aligned}
& =\sum_{r=0}^{n+1}(-1)^{r} q^{\frac{r^{2}+r}{2}} x^{r} \sum_{\alpha_{1}+\alpha_{2}+\cdots+\alpha_{r} \leq s} q^{\alpha_{1}+2 \alpha_{2}+\cdots+r \alpha_{r}} \\
& \quad \times \sum_{\beta_{1}+\cdots+\beta_{r}=n+1-s-r} q^{\beta_{1}+2 \beta_{2}+\cdots+r \beta_{r}} \\
& =\sum_{r=0}^{n+1}(-1)^{r} q^{\frac{r^{2}+r}{2}} x^{r} \sum_{k} p(k, r, s) x^{k} \sum_{k} p(k, r, n+1-r-s) x^{k} \\
& =\sum_{r=0}^{n+1}(-1)^{r} q^{\frac{r^{2}+r}{2}} x^{r} \frac{(q)_{r+s}}{(q)_{r}(q)_{s}} \frac{(q)_{n+1-s}}{(q)_{r}(q)_{n+1-r-s}} .
\end{aligned}
$$

Similarly,

$$
Q_{n}(x)=\sum_{r=0}^{n+1}(-1)^{r} q^{\frac{3 r^{2}+r}{2}} x^{r} \frac{(q)_{r+s}}{(q)_{r}(q)_{s}} \frac{(q)_{n-s}}{(q)_{r}(q)_{n-r-s}},
$$

where

$$
\sum_{k} p(k, r, n) x^{k}=\frac{(x)_{r+n}}{(x)_{r}(x)_{n}}
$$

and $p(k, r, n)$ is the number of partition of $k$ into at most $r$ parts not exceeding $n$.

## References

1. C. Adiga, B.C. Berndt, S. Bhargava and G.N. Watson, Chapter 16 of Ramanujan's Second Notebook: Theta-Functions and $q$-Series, Memoirs Amer. Math. Soc. 315, Amer. Math. Soc., Providence, 1985.
2. G.E. Andrews, B.C. Berndt, L. Jacobsen and R.L. Lamphere, The Continued Fractions Found in the Unorganised Portions of Ramanujan's Notebooks, Memoirs Amer. Math. Soc. 477, Amer. Math. Soc., Providence, 1992.
3. B.C. Berndt, R.L. Lamphere and B.M. Wilson, Chapter 12 of Ramanujan's second notebook: continued fractions, Rocky Mountain J. Math. 15 (1985), 235-310.
4. G. Gasper and M. Rahman, Basic Hypergeometric Series, Cambridge University Press, Cambridge, 1990.
5. P.A. MacMahon, Combinatory Analysis, Cambridge University Press, Cambridge, 1916.

* 

Department of Mathematics
Lucknow University
Lucknow, India
E-mail: bhaskarsrivastav@yahoo.com


[^0]:    Received by the editors on March 26, 2005.
    2000 Mathematics Subject Classifications: Primary 33Dxx, 33D50.
    Key words and phrases: q-hypergeometric series, continued fraction.

